o 24.17

22.0 RETO

i3:3:40)
H=2.im V=427.7m3

H=1.3m V=42.2m3

Bt E&E V=1743m3

20.0

/5w V=158. 6m3

e+ @

U = AU
H=0_5n_V=30. 753

3.9

23.5

RE+®
H=1.5m V=42.4m3

= 40)
H=1.5m V=

. Tm3

A& 1148.6m3

o

— N
i N
- ©21.7 REtd
1 51 V=524, 2m3 H=2. 6 V=782, 5m3
- / ©18.9
— /
REL@ 7 AV ,
H=2.0m V=616.0m3 W / ;
_ M L=
REL® N / —
H=2.5m V=344.5m3 ;
\
\\
@ ) @\
2 !
1)
1 °18. 6
\ RE+Q T~
H=1.8m (3.6m)
T V=157. 3m3
V=991. 3m3

KR ETRmE
I F £ |R3EL BNNSN L -315 RETNIMEEE
BiRa%E I ES
IHEm HREFER LARATS |25
FEE
R B ‘EE&%“ 1/2
BIFE SHIEE
BEER

BERRMPRLBERR<EH)I>



RELTSER
§=1:200

FHEE

25000

3
InARAREN

SRARNERRRRARNEN
| E .
i

A-ABrE R - y
A-AWEE

8000

pd X

Rt
14000

KR E XmE

T = & |R3FL ENWAN LiR- 3%

BIREE

RN HEE

[ UIES

THRER HREFER LARATS |25

% 2ER

R By IZIE%%" 2/2

“M3EE

BERRBELRER<THII>



